

OSCILLATION OF NEUTRAL DIFFERENCE EQUATIONS

NAM JIP KOO

ABSTRACT. We obtain some sufficient conditions for oscillation of the neutral difference equation with positive and negative coefficients

$$\Delta(x_n - cx_{n-m}) + px_{n-k} - qx_{n-l} = 0,$$

where Δ denotes the forward difference operator, m, k, l , are nonnegative integers, and $c \in [0, 1), p, q \in \mathbb{R}^+$.

1. Introduction

The problem of oscillation and nonoscillation of solutions of neutral difference equations is receiving much attention by authors [2-6]. In particular Ladas [4] studied the difference equations with positive and negative coefficients

$$(1) \quad x_{n+1} - x_n + px_{n-k} - qx_{n-l} = 0, \quad n = 0, 1, 2, \dots$$

$$(2) \quad x_{n+1} - x_n + px_{n+k} - qx_{n+l} = 0, \quad n = 0, 1, 2, \dots,$$

where $p, q \in \mathbb{R}^+$ and $k, l \in \mathbb{N}$.

Now, we consider the neutral difference equations of the form

$$(3) \quad \Delta(x_n - cx_{n-m}) + px_{n-k} - qx_{n-l} = 0$$

$$(4) \quad \Delta(x_n - cx_{n+m}) + px_{n+k} - qx_{n+l} = 0,$$

Received by the editors on July 28, 1999.

1991 *Mathematics Subject Classifications*: Primary 39A10.

Key words and phrases: neutral difference equation, oscillation, nonoscillation.

where Δ denotes the forward operator : $\Delta x_n = x_{n+1} - x_n$ and c is a real number. If $c = 0$, then (3) and (4) reduce to (1) and (2), respectively. Let $l_0 = \max\{m, k, l\}$, where m, k, l are nonnegative integers. Then by a *solution* of (3) we mean a sequence $\{x_n\}$ which is defined for $n \geq N - l_0$ and satisfies (3) for $n \geq N$. A nontrivial solution $\{x_n\}$ of (3) is said to be *oscillatory* or *oscillates* if for every $N_1 \geq N$, there exists $n \geq N_1$ such that $x_n x_{n+1} \leq 0$. Otherwise, it is called *nonoscillatory*. Therefore a solution is *oscillatory* if it is eventually positive or eventually negative.

In this paper we obtain some sufficient conditions for the oscillation of solutions of equations (3) and (4).

2. Main Results

The following known lemmas will be used to prove the main theorems.

LEMMA 2.1. [5] Consider the difference equation

$$(5) \quad x_{n+1} - x_n + p x_{n-k} = 0, \quad n = 0, 1, 2, \dots,$$

where $p \in \mathbb{R}$ and $k \in \mathbb{Z}$.

Then every solution of equation (5) oscillates if and only if one of the following conditions holds :

- (a) $k = -1$ and $p \leq -1$;
- (b) $k = 0$ and $p \geq 1$;
- (c) $k \in \{\dots, -3, -2\} \cup \{1, 2, \dots\}$ and $p \frac{(k+1)^{k+1}}{k^k} > 1$.

LEMMA 2.2. [3] Assume that $p_i \in (0, \infty)$ and $q_i \in \mathbb{N}$ for $i = 1, 2, \dots, m$. Then the following statements are true.

- (a) The difference inequality

$$x_{n+1} - x_n + \sum_{i=1}^m p_i x_{n-k_i} \leq 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution if and only if the difference equation

$$y_{n+1} - y_n + \sum_{i=1}^m p_i y_{n-k_i} = 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution.

(b) The difference inequality

$$x_{n+1} - x_n - \sum_{i=1}^m p_i x_{n+k_i} \geq 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution if and only if the difference equation

$$y_{n+1} - y_n - \sum_{i=1}^m p_i y_{n+k_i} = 0, \quad n = 0, 1, 2, \dots$$

has an eventually positive solution.

LEMMA 2.3. [4] Assume that

$$p > q \geq 0, \quad k \geq l \geq 0, \quad q(k - l) \leq 1$$

and that

$$p - q > \frac{k^k}{(k + 1)^{k+1}}, \quad \text{if } k \geq 1$$

and $p - q \geq 1$ if $k = 0$.

Then every solution of equation (1) oscillates.

LEMMA 2.4. [4] Assume that

$$0 \leq p < q, \quad 1 \leq k \leq l, \quad p(l - k) \leq 1$$

and that

$$q - p > \frac{(l - 1)^{l-1}}{l^l}, \quad \text{if } l \geq 2$$

and $q - p \geq 1$ if $l = 0$.

Then every solution of equation (2) oscillates.

THEOREM 2.5. Assume that

$$p > q \geq 0, k \geq l \geq m \geq 0, q(k-l) + c \leq 1$$

and that

$$p - q > \frac{k^k}{(k+1)^{k+1}}, \quad \text{if } k \geq 1$$

and $p - q \geq 1$ if $k = 0$.

Then every solution of equation (3) oscillates.

Proof. For the case $k = l = m$ the equation (3) reduces to the following difference equation satisfying assumptions of Lemma 3 :

$$x_{n+1} - x_n + (p - q + c)x_{n-m} - cx_{n-(m-1)} = 0, \quad n = 0, 1, 2, \dots$$

Thus every solution of equation (3) oscillates by Lemma 3. So suppose $k > l > m$. Assume that, for the sake of contradiction, equation (3) has an eventually positive solution $\{x_n\}$. Then there exists $n_0 \in \mathbb{N}$ such that $x_n > 0$ for all $n \geq n_0$. Set

$$(6) \quad c_n = x_n - q \sum_{j=l+1}^k x_{n-j} - cx_{n-m}, \quad n \geq n_0 + k.$$

Then we obtain

$$(7) \quad \begin{aligned} c_{n+1} - c_n &= x_{n+1} - x_n - q(x_{n-l} - x_{n-k}) - c_{n+1-m} + cx_{n-m} \\ &= -(p - q)x_{n-k} < 0, \quad n \geq n_0 + k. \end{aligned}$$

Thus $\{c_n\}$ is a strictly decreasing sequence for $n \geq n_0 + k$. We claim that

$$\lim_{n \rightarrow \infty} c_n = L \in \mathbb{R}.$$

Otherwise, $L = -\infty$ and $\{x_n\}$ must be unbounded. Hence there exists $n_1 \geq n_0 + k$ such that $x_{n_1} = \max\{x_n : n \leq n_1\}$ and $c_n < 0$. Then

$$0 > c_{n_1} = x_{n_1} - q \sum_{j=l+1}^k x_{n_1-j} - cx_{n_1-m} \geq x_{n_1}[1 - q(k-l) - c] \geq 0,$$

which is a contradiction. Thus the limit L exists. It now follows, by taking the limit in (7), that $\lim_{n \rightarrow \infty} x_n = 0$. As the sequence $\{c_n\}$ decreases to zero, we conclude that

$$(8) \quad c_n > 0 \quad \text{for } n \geq n_0 + 2k.$$

Also, from (6) we see that $c_n < x_n$ for $n \geq n_0 + k$, so (7) yields the inequality

$$(9) \quad c_{n+1} - c_n + (p - q)c_{n-k} < 0 \quad \text{for } n \geq n_0 + 2k.$$

But in view of Lemmas 1,2 and hypothesis of Lemma 3, the difference inequality (9) can not have an eventually positive solution. This contradicts (8) and completes the proof of the theorem. \square

THEOREM 2.6. *Assume that*

$$0 \leq p < q, \quad 1 \leq m \leq k \leq l, \quad p(l - k) + c \leq 1$$

and that

$$q - p > \frac{(l - 1)^{l-1}}{l^l}, \quad \text{if } l \geq 2$$

and $q - p \geq 1$ if $l = 0$.

Then every solution of equation (4) oscillates.

Proof. For the case $m = k = l$ the equation (4) reduces to the following difference equation

$$x_{n+1} - x_n + (p - q + c)x_{n+k} - cx_{n+k+1} = 0.$$

Then every solution of (4) oscillates. So suppose $1 \leq m < k < l$. Assume, for the sake of contradiction, that equation (4) has an eventually positive solution x_n . Set

$$(10) \quad c_n = x_n - p \sum_{j=n+k}^{n+l-1} x_j - cx_{n+m}.$$

Then we obtain

$$(11) \quad \begin{aligned} c_{n+1} - c_n &= x_{n+1} - x_n - p(x_{n+l} - x_{n+k}) - c(c_{n+1+m} - x_{n+m}) \\ &= (q - p)x_{n+l} > 0. \end{aligned}$$

Thus $\{c_n\}$ is eventually strictly increasing and either

$$(12) \quad \lim_{n \rightarrow \infty} c_n = \infty$$

or

$$(13) \quad \lim_{n \rightarrow \infty} c_n = c \in \mathbb{R}.$$

Assume that (13) holds. Then from (10) and (11) we see that

$$\lim_{n \rightarrow \infty} x_n = 0 = \lim_{n \rightarrow \infty} c_n.$$

Hence there exists an index n_1 such that

$$c_{n_1} < 0 \quad \text{and} \quad x_{n_1} \geq x_n > 0 \quad \text{for} \quad n \geq n_1.$$

Then (10) yields

$$\begin{aligned} 0 > c_{n_1} &= x_{n_1} - p \sum_{j=n_1+k}^{n_1+l-1} x_j - cx_{n_1+m} \\ &\geq x_{n_1} [1 - p(l - k) - c] \geq 0, \end{aligned}$$

which is a contradiction. Therefore (12) holds. From (10) and (11) we find

$$c_{n+1} - c_n - (p - q)c_{n+l} \geq 0,$$

and also $c_n > 0$. In view of Lemma 2 this implies that the difference equation

$$y_{n+1} - y_n - (p - q)y_{n+l} = 0$$

has an eventually positive solution. This contradicts, in view of Lemma 1, that

$$q - p > \frac{(l - 1)^{l-1}}{l^l}, \quad \text{if } l \geq 2$$

and $q - p \geq 1$ if $l = 0$. This completes the proof of the theorem. \square

REFERENCES

- [1] R. P. Agarwal, *Difference Equations and Inequalities*, Marcel Dekker Inc., New York, 1992.
- [2] M. P. Chen and B. G. Zhang, *Oscillation and comparison theorems of difference equations with positive and negative coefficients*, Bull. Inst. Math. Acad. Sinica **22** (1994), 256-306.
- [3] I. Györi and G. Ladas, *Linearized oscillations for equations with piecewise constant arguments*, Differential and Integral Equation **2** (1989), 123-131.
- [4] G. Ladas, *Oscillations of difference equations with positive and negative coefficients*, Proceedings of the Geoffrey J. Butler Memorial Conference on Differential and Population Biology, June (1988), 20-25.
- [5] ———, *Explicit conditions for the oscillation of difference equations*, J. Math. Anal. Appl., **153** (1990), 276-287.
- [6] I. Györi and G. Ladas, *Oscillation Theory of Delay Differential Equations*, Oxford University Press, New York, 1991.

DEPARTMENT OF MATHEMATICS
 CHUNGNAM NATIONAL UNIVERSITY
 TAEJON 305-764, KOREA

E-mail: njkoo@math.chungnam.ac.kr